1. X9 gl 1,2,3, Yo &l a,b,c,dd W, (X,Y) 2 °o]FolX& &A
Aol obd A I=2H?

@ (1, ¢ @ (3, d) ® (2, b)
@ (3, ¢) ® (1, a)



o|J
™
ol
ofg

el
e
o
bl

~

J
%

oF
B

ﬁo
el

g

@ B(4,0)
® E(-3,1)

@® A(3,4)
@ D(-2,1)



?

LSS
.

olo] = A A, B Aol 9] A2

3 10

@ 4 B 6

D 2



© A AE Al 442 el Sk

@ H BE Al 1AREH 919] Aol

® H DO #HFHE (-2,-2) 0l

@ x @7} 20]aL, yHR7H0 91 A2 ColH.

® A CE A 1AFEH 9o Holt}



Al A A(2,2),B

9

D 3

(-1,2),C(3,-2) & &



6.

HEgd 99 Al H A(-1,1),B(1,0),C(2,3) &
AABC 9] Y o]&=?

)

N | Qo

@

N | O
N | 7
—
—



O x FE7T -209]

4. (7, 0) o]tk

J A

910l 91, x 24} 7

@ x=

Al

@ (1, -1 (-1, 1)



O H (-5, 9)ExFEE9, yHEE 59 Holr},
@ HEZF 9] FL o AHEHE £517] gkt
® A (1, —5)= A 2 AHEHA 99| Mot

@ A (0, -6)= x5 919 Holrt.

® A (0,6)2y= 9] Holrt.



)

A Afa, 5) 7F Al 2 A



13 B(c—d, cd)= Al 4445

10. H A(a+b, ab)«= A 1AHEH £1¢] Ho
Ao B o, o} F &4 2 A2
@ b-d>0 @ bd >0 ® ad <0

@ ac>0 B a+b>0



11.

~2) 9yl A HL (-
3
@ m—;i’n:i
@ m 5,11:_5



12. o 29el4 4 P 2412k ABCD o] EE £tk 4 PO
HEE (a,) 20 T W, - b9 Fro] A7 B 1] 30+ 269] L
Foh?

yl\

A D(3,5)

B
(-1,-1)




13.

A Poll tiste] A P'(x,y)

y frd
AA o, g P(9,11)°] He H P

&2

D0 1

® 2






15.

P(x,y) 2t Q(—x,—y) & $1A1°l & o, 7 A2 Lo
A A(2a - 3,-4b - 1) 7} B(=34,2b - 3) 7} &
A o, a,b 9] GE27

=
=
]
=

D a=-2,b=-3
® a=-3,b=-2

® a=-4,b=-



